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Sk rw s B | () S (R) =w | wm | =E | EH G
Y3003 | H 9 F DT 15|  2,7% 216 216 119|BN  15kg |
Y3005 = 4T 832 119 119 119 BH TR B
31200 (L3 1,123 86 86 86| BA 13% |
33810 FHHEZE 216 29 29 22 | B 103E
Y3015 7 ¥ E 572 32 32 22| B 21 |
31700 | % ¢~ 25 3,456  1,458| 1,458 540 | B 311
31950 HiaX 9 3, 348 119 108 108 | & 3048
31900 X 12 2,011 270 108 108] B 12kg
36800 Hox 1 9 43 25, 126 648 540 540 | &7 43kg
34400 b R 20 6, 480 324 324 324 BN 20kg |
34270 | Xy x—= 10 1,080 22 29 22 | B 50K |
35100 W AT A 2 486 324 324 324 | BN 2kg |
35220 XM XRBE 1 535 486 486 486 | BN lkg
35303 A+ v TEZALS 15 3,413 270 238 173 | B A 15kg
Y3026 AFy7 Ex AL D (F) 15 5, 508 540 324 216 | BN 15kg
35400 £ 5 F 0 6 1,210 216 216 216 | B 6kg |
35402 LFED 5 3,996 864 756 756 | B 5kg
36200 BHE 50 5, 400 108 108 108 B 50kg
36260 |2 L7 in 20 3,240 1,620 1,620 1,620 &N 2k —2 |
36501 < 7% 14 2,118 162 162 140 | BP9 l4kg ]
36600 - E X 60 6, 696 119 | 108 108| B/ 60kg N
33410 H=—1 & 2 1 259 43| 43 43| BN 61
33420 ZU—LU—TLHR 1 173 43 43 13 BKN 448 T
Y3017 &t& U 1 983 | 756 756 756 | BN lkg
V3018 FHI j 16 2,765 173 173 173 B 163 |
31500 /MR i 0 32 32 32 321 BA 1
36340 £ L_AEIFE 5 1,188 238 238 238 | B 5kg
41806 |7 ADSA 160 8,575 270 270 238 | BN 32% v k|
43900 U 8 5, 400 216 216 216 | B 25,5 7
46108 S IEONE 21 22, 583 356 324 238 | B 695y 7 |
71011 |27 L—35 29,518 54 38 32| B 5704
71040 % NE 518 65 65 65 BN 8K
71150 | LiT 4,725 108 108 76| BN 493
71161 7B (&) 8, 424 59 59 27| BN 2007 & R
71179 Y h* 648 324 324 324 | B 23
53456 | 7= 7o lE 4 1,067 281 281 281 | &N 4kg
Y5004 &Y 15 5, 832 432 432 324 BN 15ke
39870 % 0ff g 12,960 |  4,320] 4,320 4,320 &~ 3kg B
53101 1F L AAR 2 2,268 1,404 864 864 | B 2kg
Y5010 Sbirx (&) 19 8, 467 648 648 238 B 19kg
130100 | N A L 20 1,728 86 86 86 |5 204
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30300 A% 2L 100 12,150 1,512] 1,080 1,080 FERE 104 — =
30300 A% _ M 10 2,160 2,160 2,160 2,160 ERE 1r—= |
30400 ZIE 9 ‘ M 10 4,320 4,320 4,320 4,320 | HZ& L%
31100 B3 90 9,180 1,620] 1,512 1,512 |EIRE 64— &
33500 |45 ¥ L 1 421 54 22 22 |1 1248

37440 |2 bi 2 896 896 896 896 |12 B 1
Y5005 4 KEA 5 1,534 1,534 1,534 1,534 | K45 17—
31700 F ¥V 120 9,072 1, 080 540 540 | FEIR & 12—
31800 %9 AL , 4 1,728 86 86 86 |BEVZ B 2048

131950 |EAAX ' 3 1,620 1,620 1,620 1,620 FRS 15—z
31950 [HiaX 12 2,502 648 648 648 | F1[E Al —2
31950 HARE L. 9 2,592 | 864 864 864 IR E 3gr=—=A
31900 X (M 10 2, 268 119 119. 108 |2 203 (500g)
32800 I 5 S 10 1, 566 97 11 11| Z iy 1005 |
34300 724 2L 40 12,528 |  2,376| 1,404 1,404 |REA 8r—= |
34460 =L X & | 4| 713 32 32 32 | A 22,3y 7
34460 | S=Fg b M 10 5, 443 130 97 97 |EIRE 48,3 7
34100 HK 40 9,396  1,296| 1,296 972 | B 84—
34100 K 5 8, 521 86 | 81 65| Eif 11148
34100 | A/ B L 15 3,240 1,080 1,080 1,080 i 3r—= |
34100 | i/ L 35 9,720 1,620 1,620 1,080 FEIRE T —2
34100 #I/K B 30 3, 564 | 594 594 594 | BB LR B 6145

34200 L - 40 6,696 1,728 1,728  1,620|==—U— 47 —2

Z¥ R

34500 E—< | ; 10 7, 366 81 76 76 | B I 9648
34520 FE—<y i L 2] 540 540| 540 540 IR B 1r—% |
34571 X7V A (R) 1] 864 108 108 108 | E 81

34572 | R U A () 1 950 119 119 119 | &&= 81
36600 |7-EME LK 40| 6,912  3,456| 3,456 3,456 |driEE 24— R
37200 | L x 9 28 2L 12| 3,888  1,296| 1,296 1,296 [ 3r—= |
33400 L& R 12| 1,814 86 86 65 | E I © 241 7
32900 Y — 2 324 162 162 162 | & o2&

33600 /<t 1 270 54 54 54 | 1& [ 54

38100 4 L\t \ 3 2,419 . 86 76 76 | E I 30/ 7
Y3129 o Fa L 4 1,728 54 54 32| K% 4048

31310 AT * 8 3, 456 86 86 86 | & 404%

31500 /MRa3E 11| 4,617 81 81 81 | 1@ Il 5748

32500 AF f 2] 2,376 | 1,188| 1,188 1, 188|%&M 24—
32500 Z-i 1 216 22| 22 22| K%y 103K

37560 IBIIT * 1 2, 063 486 486 302 | K4y 5%y
41480 L 5@ 6 1, 080 | 540 540 540 | 5165 o
Y4005 AL 15 8,964 8,964 8,964 8,964 7 AUH 1/ —2%
Y4017 #1250 20 5,184 2,700 2,700 2,484 EBF 24 — &
46000 \H D 15 4, 687 184 173 119 |55 308y
46108 X EONE 6 994 54 54 43 ERE 2078 7
49100 /3FF 120 20,088 2,160 2,160 1,836 74 Ut 107 —%A
YA007 T F %o 5 3,564| 3,564| 3,564 3,564 m=2—— 14 —2

Z R |
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